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' Answer all questions. 

.

Assume rnissing data, if any suitably.

1. (a) A line Eq, 75 mm long has its end E, 25 mm. above the HP and 20 mm. in front of the Vp. The
line is inclined at 50' to the HP and 30" to the VP. Draw the projections of the line and find
the traces of the line.

(b)

(20 marks)

Or

A boit of total length 50 mm tras a hexagonal head cf side 25 mm and thicltness 15 mm. The
cylincirical portion is of diameter 25 mm a,rd length 35 mm.The bolt is resting on the Hp with
an edge of the head perpendicular to the \rP. Draw its projections when the axis of the bolt is
inciined at 45" to the HP.
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(20 marks)
A cylinder of diameter 40 mm and height 50 mm rests on its base on the HP. It is cut by a
plane perpendicular to the VP and inclined at 50" to the HP. The cutting plane meets the axis
at a distance of 15 mm from the top. Draw the front view sectional view and the true shapd of
the section.

(20 marks)

Or

A cone of base diameter 60 mm and height 70 mm rest vettically on its base on the ground. A
string is wounded round the curved surfaces of the cone starting from left extreme point on
the base and ending at the same points. Find the shortest length of the string requirgd. Also,
trace the pat|,ofth9 btring in the front and top views.

(20 marks)
A hexagonal prism of base side 30 ot- uiid height 50 mm is surmounted by a tetrahedron of
side 25 mm such'that:the axes of the trvo solids are collinear. At least one base side of the
prism is parallel t,'9,one edge of the tetrahedron. Draw the isometric projection of the solids.

(20 marks)
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(b) Oragthg=$$e1$$ orthographic views (all th:ree) of the object
. ..ki,+_-.
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4. (a) For the object shown in Fig 2 draw the following views.

(i) Front view.

(ii) Tbp view

(iii) Full sectional right side view.
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(20 marks)

(4O marks)
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. (40 marks)
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